

Date	10/6/2021	
Estimate #		
- consistence	George Severe	
Estimate	george@defendersupply.c	
Бу	903-771-0845	

Bill To	
Constable Kevin Stofle	
Williamson Co TX PCT. 3 Constable	
301 SE Inner Loop, Suite 102	
Goorgetown TV 78626	

<b>Customer Contact</b>	Kevin Stofle
Customer Phone	512-943-1434
Customer E-mail	kstofle@wilco.org

Goorgotown, TX 78626						
2022 Chevrolet Tahoe 9 Vehicle Base Color - Black						
Description	Location	Qty	Price	Total		
2022 Chevrolet Tahoe 9C1 RWD Police Pursuit Vehicle (CC10706) - with EcoTec3 5.3-liter, 10-Speed Auto Trans with Heavy Duty Cooler, Heavy Duty Clutch Type Locking Differential, Dual Batteries with 760-amp Auxiliary Battery, High-output Alternator, 20-inch Steel Wheels, Brembo Front Calipers with 16-inch rotors, Keyless Entry & Push-to-Start Ignition, OnStar with Bluetooth Connectivity, Vinyl Rear Seat & Front Recovery Tow Hooks. (No Spotlight)  (Purchased Through Holiday Chevrolet on the Tarrant County Cooperative		2	34,275,02	68,550,04		
Contract # 2020-0174).  Holiday Chevrolet 1009 Highway 82 West Whitesboro, Tx 76273						
Options: GBA - Black Color 5T5 - Vinyl Rear Seat V76 - Recovery Hooks BTV - Remote Start AMF - Remote Keyless Entry Package						
Patrol Unit #'s						
Vin #'s GM Order #'s						
Payment to be made to Holiday Chevrolet - PO#						
Vehicle titles should be in the name & address of: Williamson County Attn: Auditors Office 710 S. Main St., Suite 301 Georgetown, Texas 78626						
Williamson Co TX PCT, 3 - WO # - Work Order						

**Vehicle & Emergency Equipment Total** 



Date	10/6/2021	
Estimate #		
manufacture of the second	George Severe	
Estimate	george@defendersupply.c	150 (a)
Бу	903-771-0845	

Bill To	
Constable Kevin Stofle	
Williamson Co TX PCT. 3 Constable	
301 SE Inner Loop, Suite 102	
Goorgotown TV 78626	

Customer Contact	Kevin Stofle
Customer Phone	512-943-1434
Customer E-mail	kstofle@wilco.org

Goorgotown TV 78626			Oustomer E man		KSTOIIC@WIN	JO,019
2022 Chevrolet Tahoe 9	2022 Chevrolet Tahoe 9 Vehicle Base Color - Black					
Description			Location	Qty	Price	Total
2 Year Texas State Inspection Cer	tificate	П		2	7,00	14,00
Defender Supply TAHOE Driver Side Spot Light with LED Bulb. Includes Installation.				2	524.995	1,049,99
Defender Supply TAHOE Marked F	Patrol Base Package			2	7,605.95	15,211.90
- Whelen 54" Legacy WeCanX DUO Lightbar with Integrated Traffic Advisor and Full Across Take Down/Alley Lighting, Progressing Flash Patterns with Slide Switch, Cruise, Photo Cell Daylight Sensing, Low Power (R/W, B/W Font And Side, R/A, B/A Rear) with Strap Kit.		th				
	- Core Controller, SYNC Module, Output Expansion Module, 100 Watt Speaker and Bracket. Wired and Programmed to Defender Supply Standard.					
- Steel Push Bumper with Textured Coating and 6 Tri Color Super LED Light Heads (R/B/W), 4 in the Top Channel Cutouts and 1 on Each Side with 45° Brackets. Take Down, Alley Lighting, Progressing Flash Patterns with Slide Switch, Cruise and Low Power Capabilities.		5°				
<ul> <li>2 Tri Color Super LED Light Heads (R/B/W) Mounted on Rear License Plate Bracket. Reverse / Brake Lighting, Progressing Flash Patterns with Slide Switch, Cruise and Low Power Capabilities.</li> </ul>						
- 1 Front Cabin and 2 Hatch Dome	Lights.					
- Contoured Police Console With Dual Cup Holder, Arm Rest and 2 Magnetic Mic Clips.						
- Defender Supply Wiring Harnesses, Power Distribution Block and Battery Management System.		у				
- Includes Installation.						
Customer Supplied Docking Station						

Vehicle & Emergency Equipment Total



Date	10/6/2021	
Estimate #		The second secon
	George Severe	
Estimate	george@defendersupply.c	500
Бу	903-771-0845	

Bill To	
Constable Kevin Stofle	
Williamson Co TX PCT. 3 Constable	
301 SE Inner Loop, Suite 102	
Goorgotown TV 78626	

Customer Contact	Kevin Stofle
Customer Phone	512-943-1434
Customer E-mail	kstofle@wilco.org

Goorgetown TV 78626		8	Customer E-mail Kstolle@wijco.or		co.org		
2022 Chevrolet Tahoe 9	2022 Chevrolet Tahoe 9 Vehicle Base Color - Black						
Description			Location	Qty	Price	Total	
Defender Supply Low Frequency Siren Package for Core. Includes Amp, 2 Subwoofer Speakers, Brackets. Includes Installation.		2		2	799 <b>.</b> 995	1,599.99	
Defender Supply Dual Tone Siren Package for Core. Includes Amp, 100 Watt Speaker, Bracket. Includes Installation.				2	539.90	1,079.80	
Customer Supplied Docking Station	1						
Defender Supply Computer Mount;	Console. Includes Installation.			2	375.00	750.00	
Defender Supply Small-Size Rechargeable Metal Multi-Function LED Flashlight. Flashlight Switches Provide Momentary or Constant-On Functionality with User-Selectable High (425 Lumens), Medium (200 Lumens) or Low (100 Lumens)-Brightness Settings as well as a Disorienting Strobe.		ng		2	245,505	491.01	
Facing Dual Color Super LED Light Corner of Front Bumper. Progressin Cruise Functions Available (Core/C		١		2	405.00	810.00	
Defender Supply Engine Bay Harne	GRILL-TI-EXTENSION Harnesses*** ess, Configuration 1. Works with Tahoe			2	225.00	450.00	
or Interceptor Utility. Defender Supply Push Bumper Extension Harness, Works with Tahoe or Interceptor Utility.				2	75,00	150,00	
Defender Supply Running Board Lighting - Includes Four Dual Color Super LED Light Heads (4x R/W/B), 2 on Each Running Board. Progressing Flash Patterns with Slide Switch, Alley, Low Power and Cruise Functions Available (Core/Carbide Only). Includes Installation.  ***Requires RUNNINGBOARD-##-2 Harness***		sh		2	1,105.80	2,211.60	
	when using a Core*** e - Adds 8 More WeCanX Outputs and s a 4 Fuse Terminal Fuse Block and	4		2	454.90	909.80	

**Vehicle & Emergency Equipment Total** 



Date	10/6/2021	
Estimate #		
	George Severe	W TEN
Estimate	george@defendersupply.c	PPVII
Бу	903-771-0845	

Bill To	
Constable Kevin Stofle	
Williamson Co TX PCT. 3 Constable	
301 SE Inner Loop, Suite 102	
Goorgotown TV 78626	

<b>Customer Contact</b>	Kevin Stofle
Customer Phone	512-943-1434
Customer E-mail	kstofle@wilco.org

2022 Chevrolet Tahoe 9	Vehicle Base Color - Black
------------------------	----------------------------

2 0.75	249.995 110.00	<b>Total</b> 499.99 82,50
100 00 00 00 00 00 00 00 00 00 00 00 00	110,00	
2	430.995	861,99
2	50.00	100.00
2	267.50	535.00
2	1,216.94	2,433.88
2	138,00	276,00
2	153.00	306.00
2	645.645	1,291,29
	2	2 153.00

Vehicle & Emergency Equipment Total



Date	10/6/2021	
Estimate #		
	George Severe	
Estimate	george@defendersupply.c	
Ву	903-771-0845	

Bill To	
Constable Kevin Stofle	
Williamson Co TX PCT. 3 Constable	
301 SE Inner Loop, Suite 102	
Goorgotown TV 78626	

<b>Customer Contact</b>	Kevin Stofle
Customer Phone	512-943-1434
Customer E-mail	kstofle@wilco.org

2022 Chevrolet Tahoe 9	Vehicle Base Color - Black
------------------------	----------------------------

2022 Chevrolet Tanoe 9 Vollide Base Color Blask				
Description	Location	Qty	Price	Total
Defender Supply Surface Mount Dual Weapon Universal Cuff Lock with 8 Second Timer, Switch, Defender Supply Gunlock Wire Harness. Includes Installation.		2	452,50	905,00
Defender Supply TAHOE Cargo Barrier with Mesh Window, Plastic Prisoner Seat with Center Pull Seat Belt System. Includes Shipping and Installation.		2	1,585.00	3,170,00
Defender Supply Rear Seat Dome Light - Includes 2, 3" Round Red/White Dome Lights Mounted Over Rear Driver and Passenger Side Seat with Switches on the C-pillar for the Coresponding Side. Includes Installation.		2	258.90	517.80
Defender Supply Rear Seat Dome Harness.			35.00	35,00
Defender Supply TAHOE Premium Single Drawer Storage Box. Includes Shipping and Installation.		2	1,464.995	2,929.99
Tech: Please make Headlights & Taillights Flash				
Make & Model of Customer Supplied Police Radio - Motorola APX - 7500 1-Piece What is the Frequency of Customer Supplied Police Radio - 800MHz & VHF				
(4) door paint service for trucks and SUVs - Paint Entire Door including Door Frames - Black 2022 Chevrolet Tahoe 9C1		2	1,100.00	2,200.00
Custom Reflective Vehicle Graphic Kit w Reflective Chevrons for the Rear of Tahoe Bumpers by Mike Glass and Professional Installation on a Black 2022 Chevrolet Tahoe 9C1 - Need Unit #'s ???		2	650,00	1,300,00
Window Tint - Front Eyebrow on Top Part of Front Windshield Window Tint - For Two Front Windows		2 2	39 <b>.</b> 95 79.95	79.90 159.90
Wash and Prepare Vehicle for Delivery to Customer		2	100.00	200.00
Vehicle Dealer Prep		2	130.00	260.00
Misc. Shop Supplies		2	30.00	60.00
Shipping of Above Emergency Parts for Upfit		2	150.00	300.00

**Vehicle & Emergency Equipment Total** 



Date	10/6/2021	
Estimate #		
	George Severe	
Estimate	george@defendersupply.c	上三(1)
Бу	903-771-0845	

Bill To	
Constable Kevin Stofle	
Williamson Co TX PCT. 3 Constable	
301 SE Inner Loop, Suite 102	
Goorgotown TV 78626	

Customer Contact	Kevin Stofle 512-943-1434	
Customer Phone		
Customer E-mail	kstofle@wilco.org	

Goorgotown TX 78626					
2022 Chevrolet Tahoe 9	Vehicle Base Color - Black				
De	scription	Location	Qty	Price	Total
Installation of Customer Supplied E	Equipment:		10	110.00	1,100.00
Police Radio - Motorola XTL 2500 1-Piece Police Speaker					
Radio Wiring Harness					
Docking Station Laptop Power Supply					
Panasonic Camera System					
Octo Antenna Cradle Point System Bluetooth Roof Antenna					
Defender Supply Discount				-1,722.37	-1,722.37
Customer to Pick Up Vehicle					

**Vehicle & Emergency Equipment Total** 



Date	10/6/2021	
Estimate #		
	George Severe	W TE
Estimate	george@defendersupply.c	PETE
Ву	903-771-0845	

Bill To		
Constable Kevin Stofle		
Williamson Co TX PCT. 3 Constable		
301 SE Inner Loop, Suite 102		
Coorgotown TV 78626		

Customer Contact	Kevin Stofle	
Customer Phone	512-943-1434	
Customer E-mail	kstofle@wilco.org	

2022 Chevrolet Tahoe 9	Vehicle Base Color - Black				
Description		Location	Qty	Price	Total
patrick_hurley@wilco.org					
Williamson Co TX PCT, 3 Constable - Customer Supplied Parts Needed Now - WO#					
Hi Sir, I am being asked by the service department to have your customer supplied equipment shipped to us. Please mark the box(s) with "WO#" so we can get your equipment checked in correctly. I show you are supplying the following equipment:					
Police Radio - Motorola XTL 2500 1 Police Speaker Radio Wiring Harness Docking Station Laptop Power Supply Panasonic Camera System Octo Antenna Cradle Point System Bluetooth Roof Antenna					
Please ship to:					
Defender Supply Parts Department 845 FM 407 West Argyle, Texas 76226 Office (903) 771-0845	- WO #				
Thanks, George					
				0.00	0.00

Vehicle & Emergency Equipment Total \$111,160.00